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16 6.07

17 15, 30

18 (equivalent fractions accepted)1
30

19 11 + 7y

20 360 - 288 = 72
180 - 72 = 108

21

22

23



24 Area of 3 quarter circles = x 𝜋 x 8cm x 8cm = 48 𝜋 cm²3
4

Area of triangle = x 8cm x 8cm = 32 cm²1
2

Area of figure = (48 𝜋 + 32) cm²

25

26 8 x 8 = 64
Length of base = 8cm
Height of cuboid = 72 cm² 8cm = 9cm÷

27 624 3 = 208÷
208 x 4 = 832
832 8 = 104 or 624 6 =104 or 208 2 =104÷ ÷ ÷

30 20 + 15 + 25 + 15 = 75
18 x 5 = 90
90 - 75 = 15

Paper 2

1 a) 4.1cm (acceptable 4cm - 4.2cm)

b) 94º (accepted 92º - 95º)



2 360º - 62º =298º

3 180 min - 15 min = 165min
165min 3 = 55 min÷
55 min + 15min = 70 min

4 x 10 x RS = 241
2
24 5 = 4.8cm÷

5

8 Assume all are square,
40 x 3 = 120
120 - 92 = 28
28 2 = 14÷

9 a) 70 g
b) 120g
c) 130g

10

11 3600 4 = 900÷

b) x 100% = 333 %1000
300

1
3



12 a) Area of big circle = 3.14 x 30cm x30cm = 2826 cm²
Area of small circle = 3.14 x 20xm x 20cm = 1256 cm²
Shaded area = 2826 - 1256 = 1570 cm²

b) Circ of large circle / length of large rect.
= 3.14 x 60 = 188.4 cm

Outer surface area = 188.4cm x 42 = 7912.8 cm²

Circ of small circle / length of small rect.
= 3.14 x 40 = 125.6cm²

Inner surface area = 125.6 x 42 = 5275.2 cm²

Total = 7912.8 + 5275.2 + 1570 + 1570 = 16 328 cm²

13

14

a)
b) 75 cm + 29 cm + 13 cm = 117 cm = 1.17m

15 a) A : B
2 : 3 (x15)
30 : 45

Hall A Hall B
Girls: Boys Girls: Boys

7: 3 (x3) 2: 7 (x5)
21: 9 10: 35

Boys (Hall A) : Boys (Hall B)
9: 35

b) 62% → 31u (girls)
1% → 31u 62 = u÷ 1

2

38% → u x38 = 19u (boys left)1
2

44u - 19u = 25u
25u = 375
1u= 375 25÷
= 15

19u = 15 x 19 = 285



16

17 Packed boxes
C : T
3 : 5
36 : 50 (multiples of 4 and 3)

1 set = $2.10 x9 + $1.60 x20 = $50.90
$203.6 $50.90 = 4sets÷
4 x60 =240


